
iz’u&i= dh ;kstuk 2024&2025 

 

d{kk & XII 

fo"k; &  xf.kr      

vof/k & 3 ?k.Vk 15 feuV        iw.kkZad& 80 
 

1- mn~ns'; gsrq vadHkkj& 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 24 30 

2- vocks/k  24 30 

3- Kkuksi;ksx 16 20 

4- dkS'ky 8 10 

5- fo’ys"k.k 8 10 

;ksx 80 100 
 

2- iz'uksa ds izdkj okj vadHkkj& 

Ø-la- iz'uksa dk izdkj iz'uksa dh 

la[;k 

vad 

izfr 

iz'u 

dqy vad izfr'kr 

¼vadks dk½ 

izfr'kr 

¼iz'uksa 

dk½ 

laHkkfor 

le; 

1- cgqfodYikRed 18 1 18 22.5 33.96 36 

2- fjDrLFkku 6 1 6 7.5 11.32 15 

3- vfry?kwÙkjkRed 12 1 12 15.0 22.64 42 

4- y?kwÙkjkRed 10 2 20 25.0 18.87 40 

5- nh?kZmÙkjkRed 4 3 12 15.0 7.55 32 

6- fuca/kkRed 3 4 12 15.0 5.66 30 

 ;ksx 53  80 100.00 100.00 195 

feuV 

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gSa A        

3-     fo"k; oLrq dk vadHkkj&         
   

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 

1 lEcU/k ,oa Qyu 3 3.75 

2 Áfrykse f=dks.kfefr Qyu 4 5.00 

3 vkO;wg 5 6.25 

4 lkjf.kd 5 6.25 

5 lkarR; ,oa vodyuh;rk 8 10.00 

6 vodyt ds vuqÁ;ksx 6 7.50 

7 lekdyu 12 15.00 

8 lekdyuksa ds vuqÁ;ksx 4 5.00 

9 vody lehdj.k 6 7.50 

10 lfn'k chtxf.kr 7 8.75 

11 f=foeh; T;kfefr 9 11.25 

12 jSf[kd Áksxzkeu 4 5.00 

13 Ákf;drk 7 8.75 

 loZ;ksx 80 100 



iz'u&i= CY;wfizUV 2024&2025 

d{kk &XII       fo"k; %&xf.kr   le; 3%15 ?kUVs                  iw.kkZad&80 

Ø-la- mÌs'; 

bdkbZ@ 

mibdkbZ 

Kku vocks/k Kkuksi;ksx dkS'ky  fo’ys"k.k ;ksx 
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1 lEcU/k ,oa Qyu 
1(1)         2(1)         

      
      

3(2) 

2 Áfrykse f=dks.kfefr 

Qyu 

  
 

    1(1)     1(1) 
 

 2(1)   
      

 
 

    
4(3) 

3 vkO;wg 1(1)  1(1)    1(1)                     2(1)   5(4) 

4 lkjf.kd 1(1)       1(1)       1(1)             2(1)   5(4) 

5 
lkarR; ,oa 

vodyuh;rk 
1(1)   2(1)   1(1)   2(1)     1(2)    

      
      

8(6) 

6 vodyt ds 

vuqÁ;ksx 
1(1)  

1(2) 
    1(1)      

 
 2(1)   

      
 

 
    

6(5) 

7 lekdyu 1(1)   2(1)    1(1)   3*(1) 4*(1)   1(1)                12(6) 

8 lekdyuksa ds 

vuqÁ;ksx 

  
1(1) 

     
 

    
 

 2(1)   
1(1)      

 
 

    
4(3) 

9 vody lehdj.k 1(1)    3*(1)    1(1)     1(1)                 6(4) 

10 lfn'k chtxf.kr 1(1)  1(1)     1(1)  2(1)   1(1)      1(1)            7(6) 

11 f=foeh; T;kfefr 1(1)  1(1)        3*(1)                   4*(1) 
9(4) 

12 jSf[kd Áksxzkeu                        4*(1)       4(1) 

13 Ákf;drk 1(1)  1(1)              3*(1)  
1(2)            

7(5) 

 

           ;ksx 10(10)  
 

7(7) 4(2) 3(1)  2(2) 5(5) 
 

1(1) 6(3) 6(2) 4(1) 2(2) 
 

1(1) 4(4) 6(3) 3(1)  
 

4(4)     
   

 4(1)    4(2)  4(1) 
80(53) 

 
     loZ;ksx 24(20) 24(14) 16(11) 

8(5) 
8(3) 

80(53) 

 

    fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS uksV%&dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA 

    ;g Cyw fizaV dsoy ekWMy iz’u i= dk gS] cksMZ dk iz’u i= fu/kkZfjr ikB~;Øe ,oa vad ;kstukuqlkj gh gksxkA 



 

ekè;fed f'k{kk cksMZ jktLFkku] vtesj 

e‚My ç'u i= mPp ekè;fed ijh{kk 2025 

fo"k;% xf.kr ¼Mathematics½ 

d{kk& 12 

le;% 3 ?k.Vs 15 feuV                                  iw.kkZd% 80   

ijh{kkÆFk;ksa ds fy, lkekU; funsZ'k% 

GENERAL INSTRUCTION TO THE EXAMINEES: 

1- ijh{kkFkÊ loZçFke vius ç'u i= ij ukekad vfuok;Zr% fy[ksaA  

Candidate must write first his/her Roll No- on the question paper compulsorily. 

2- lHkh ç'u djus vfuok;Z gSA 

All the questions are compulsory. 

3- çR;sd ç'u dk mÙkj nh xÃ mÙkj iqfLrdk es gh fy[ksaA 

 Write the answer to each question in the given answer book only. 

4- ftu ç'uksa es vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 

For questions having more than one part, the answers to those parts are to be written together in 

continuity. 

5- ç'u dk mÙkj fy[kus ls iwoZ ç'u dk Øekad vo'; fy[ksaA 

Write down the serial number of the question before- attempting it. 

6- ç'u i= ds fgUnh o vaxzsth :ikUrj.k esa fdlh çdkj dh =qfV@vUrj@fojksèkkHkkl gksus ij 

fgUnh Hkk"kk ds ç'u dks gh lgÈ ekusaA 

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the 

question of Hindi version should be treated valid. 

7- ç'u Øekad 14 ls 20 es vkUrfjd fodYi gSA 

There are internal choices in Question No. 14 to 20. 

  



[k.M & v 

SECTION- A 

1- cgqfodYih ç'u ¼i ls xvi½%  

     Multiple choice question- (i to xvi)  

¼i½ eku fyft, fd leqPp; N esa]  R ( , ) : 2, 6a b a b b= = −  }kjk Ánr lEcU/k R gSA fuEufyf[kr esa 

ls lgh mÙkj pqfu,%                                                                   1                                                     

 ¼v½ (2,4) R                      ¼c½  (3,8) R        ¼l½ (6,8) R        ¼n½ (8,7) R  

Let R be the relation in the set N and given by  R ( , ) : 2, 6a b a b b= = −  .Choose the correct 

answer - 

 (a) (2,4) R         (b) (3,8) R   (c) (6,8) R            (d) (8,7) R  

¼ii½ 1 1
cot

3

−  
− 
 

 dk eq[; eku gS&                                                      1                                

¼v½ 
6


                ¼c½ 

3


             ¼l½

2

3


            ¼n½ 

5

6


  

The Principal value of 
1 1

cot
3

−  
− 
 

is -  

 (a) 
6


                                (b) 

3


              (c) 

2

3


            (d) 

5

6


 

¼iii½ A ij m n
a


 =   ,d oxZ vkO;wg gS ;fn &                                               1                

 ¼v½ m n   ¼c½ m n        ¼l½m n=        ¼n½buesa ls dksbZ ugha  

     A ij m n
a


 =   Is a square matrix if - 

   (a) m n   (b) m n   (c) m n=   (d)None of these  

¼iv½
  2    4

1    2−
dk eku gS&                                                            1                          

 ¼v½ 0   ¼c½ 8        ¼l½ 6        ¼n½ 7  

 

     The Value of 
  2    4

1    2−
is - 

 (a) 0   (b) 8   (c) 6   (d)7  

¼v½ ;fn 

1    0   1

A 0    0   0

1    0   1

 
 

=
 
  

 gS]rks
2A gksxk &                                               1 

 ¼v½ 2A     ¼c½ 2A−   ¼l½A        ¼n½ A−   

If

1    0   1

A 0    0   0

1    0   1

 
 

=
 
  

 then the value of 2A is -  



 (a) 2A         (b) 2A−     (c) A   (d) A−  

¼vi½ xds lkis{k ( )sin log x dk vodyt gS &                                        1 

 ¼v½ ( )cos log x     ¼c½ 
( )cos log x

x

−
            ¼l½

( )cos log x

x
       ¼n½ tan x    

The derivative of ( )sin log x with respect to x is -  

(a) ( )cos log x       (b) 
( )cos log x

x

−
           (c) 

( )cos log x

x
  (d) tan x  

¼vii½ ,d òÙk dh f=T;k 6 r cm=  ij xds lkis{k {ks=Qy esa ifjorZu dh nj gS &          1             

¼v½10    ¼c½12   ¼l½8   ¼n½11    

The rate of change of the area of a circle with respect to its radius at 6 r cm=  is -  

 (a)10    (b) 12   (c) 8   (d) 11   

¼viii½
3 8 5

( )
2 5

x x
f x

k x

− 
= 



   ;fn 

      ;fn 

5x = ij lrr gS]rks k dk eku gS &                       1                                                                   

¼v½ 
2

7
        ¼c½ 

3

7
                 ¼l½

4

7
        ¼n½ 

7

2
  

3 8 5
( )

2 5

x if x
f x

k if x

− 
= 



    

       

is continuous at 5x = then value of k is - 

   (a) 
2

7
              (b) 

3

7
               (c) 

4

7
    (d) 

7

2
 

¼ix½ 
2

1 sin

cos

x
dx

x

−
 dk eku gS &                                                          1                                        

 ¼v½ tan secx x C− + +    ¼c½ tan secx x C− +       

 ¼l½ cot cosec x x C− +    ¼n½ cot cosec x x C− + +    

The value of 
2

1 sin

cos

x
dx

x

−
 is- 

(a) tan secx x C− + +      (b) tan secx x C− +            

 (c) cot cosec x x C− +                  (d) cot cosec x x C− + +  

¼x½ oØ
2 4 ,y x y= −v{k ,oa js[kk 3y = ls f?kjs {ks= dk {ks=Qy gS &                   1                          

 ¼v½ 2     ¼c½ 
9

4
       ¼l½ 

9

3
        ¼n½ 

9

2
 

Area of the region bounded by the curve 
2 4 ,y x y= −  axis and the line 3y =  is - 

(a) 2    (b) 
9

4
  (c) 

9

3
  (d) 

9

2
 

¼xi½ vody lehdj.k

2

'
1

y
y

xy
=

−
dk gy gS &                                           1                                       



¼v½ logxy y C− +      ¼c½ logy x C= +   ¼l½ log( )y xy C= +  ¼n½ buesa ls 

dksbZ ugha  

The solution of differential equation
2

'
1

y
y

xy
=

−
is - 

 (a) logxy y C− +   (b) logy x C= +    (c) log( )y xy C= +  (d) None of these  

¼xii½ ( ) ( )a b a b−  + dk eku g S &                                               1 

   ¼v½2( )a b+   ¼c½2( )a b−         ¼l½ 2( )a b  ¼n½ buesa ls dksbZ ugha 

 The value of ( ) ( )a b a b−  + is - 

       (a) 2( )a b+              (b) 2( )a b−          (c) 2( )a b  (d) None of these 

¼xiii½ ( ) ( ) ( )ˆ ˆ ˆˆ ˆ ˆ ˆ ˆ ˆ. . .i j k j i k k i j +  +  dk eku gS &                                      1                              

     ¼v½0      ¼c½ 1−       ¼l½ 1          ¼n½ 3 

        The value of ( ) ( ) ( )ˆ ˆ ˆˆ ˆ ˆ ˆ ˆ ˆ. . .i j k j i k k i j +  +   is  - 

          (a) 0                        (b) 1−          (c) 1   (d) 3  

¼xiv½ ;fn ˆˆ ˆ7 7 ,a i j k= − + ˆˆ ˆ3 2 2b i j k= − +  gS]rks a b dk eku gS &                  1               

     ¼v½ 2 19       ¼c½19           ¼l½ 19 2  ¼n½buesa ls dksbZ ugha 

 

        If ˆˆ ˆ7 7 ,a i j k= − + ˆˆ ˆ3 2 2b i j k= − + then value of a b  is -  

          (a) 2 19                      (b) 19                       (c) 19 2   (d) None of these 

¼xv½ fcUnq ( ), ,P x y z dh z−v{k ls yEcor~ nwjh gS&                                 1                                                                                                                                      

     ¼v½ 
2 2 2

z

x y z+ +
        ¼c½ 

2 2x y+                  ¼l½1        ¼n½ z  

        Perpendicular distance of the point ( ), ,P x y z from z-axis is- 

          (a) 
2 2 2

z

x y z+ +
                    (b) 2 2x y+                (c) 1                 (d) z  

¼xvi½ ;fn ( ) ( )
7 9

P ,P
13 13

A B= =  vkSj 
4

P(A B)
13

 =  gks rks 
A

P
B

 
  

dk eku gS&        1                                  

     ¼v½ 
4

9
        ¼c½ 

7

9
                 ¼l½

5

9
        ¼n½ 

5

13
 

         If ( ) ( )
7 9

P ,P
13 13

A B= = and
4

P(A B)
13

 =  then the value of 
A

P
B

 
  

is-   

            (a) 
4

9
                   (b) 

7

9
               (c) 

5

9
                (d) 

5

13
 

¼xvii½ nks ikls ,d lkFk mNkyus ij dqy ;ksx5vkus dh Ákf;drk gS&                 1     



      ¼v½ 
1

18
   ¼c½ 

1

12
                 ¼l½

1

9
  ¼n½ 

1

6
 

         Two dices are drawn simultaneously. Probability to get total of 5 is-                                                     

           (a) 
1

18
                       (b) 

1

12
           (c) 

1

9
               (d) 

1

6
 

 

¼xviii½ ,d ifjokj esa nks cPps gSA ;fn ;g Kkr gks fd cPpksa esa ls de ls de ,d cPpk yM +dk 

gS] rks nksuksa cPpksa ds yM +dk gksus dh Ákf;drk gS &                                    1                                       

¼v½ 
3

4
        ¼c½ 

1

4
                 ¼l½

1

3
        ¼n½ 

2

3
 

A family has two children. Probability that both the children are boys, given that at least one of 

them is a boy, is - 

 (a) 
3

4
        (b)  

1

4
       (c) 

1

3
   (d) 

2

3
  

2- fjä LFkkuksa dh iwÆr dhft, ¼i ls vi½  

     Fill in the blanks ¼ i to vi ½ 

(i) 1sin− ,d ,slk Qyu gS ftldk ÁkUr ..................gSA                                1 

      1sin− is a function whose domain is ..................... 

(ii) ;fn

           

              0

             

a b c

a b c kabc

a b c

− −

− − + =

− −

rks k = .................. gSA                           1 

     If 

           

              0

             

a b c

a b c kabc

a b c

− −

− − + =

− −

then k = .................. 

(iii)vUrjky  1,5 esa 
2( ) 4 8f x x x= − + }kjk ÁnÙk Qyu dk fujis{k mPpre eku ..................

gSA                                                                           1 

      The absolute maximum value of given function
2( ) 4 8f x x x= − + in interval  1,5 is 

.................. 

(iv)  
2 2 2

dx

x x+ +
 cjkcj gS -------------------                                                1 

        
2 2 2

dx

x x+ +
 equals .................  



(v) vody lehdj.k 
22

dy
x y x

dx
+ = dk lekdyu xq.kkad..................gSA                   

1 

      The integrating factor of the differential equation
22

dy
x y x

dx
+ = is.................. 

(vi) lfn'k ˆ ˆ(2 3 )i j−  dk lfn'k ˆ ˆ(3 2 )i j+ ij Á{ksi ..................gSA                          1 

      The projection of the vector ˆ ˆ(2 3 )i j− on the vector ˆ ˆ(3 2 )i j+ is .................. 

3- vfr y?kwÙkjkRed Á'u% 

    Very short answer type Questions. 

(i) ;fn  A 1   3   6= − rFkk 

2

B   4

  5

− 
 

=
 
  

gS rks ( )
'

AB dk eku Kkr dhft,A               1 

        If  A 1   3   6= − and 

2

B   4

  5

− 
 

=
 
  

then find the value of ( )
'

AB . 

(ii) ;fn 
4    5

A
3    7

= gS rks Aadj ¼lg[k.MtA½ Kkr dhft,A                              1    

        If 
4    5

A
3    7

= then find Aadj .   

(iii) fl) dhft, fd y?kqx.kdh; Qyu] ( )0, esa fujUrj o/kZeku gSA                1 

       Prove that the logarithmic function is increasing on ( )0, .                                                                   

(iv)  ;fn cos ,y og x= gks rks
dy

dx
Kkr dhft,A                                           1 

        If cos ,y og x= then find .
dy

dx
 

(v) tan xe dk xds lkis{k vodyu dhft,A                                                 1 

Differentiate tan xe with respect to x.  

(vi) ,d mRikn dh xbdkb;ksa ds foØ; ls ÁkIr dqy vk; :i;ksa esa
2R( ) 3 36 5x x x= + + ls Ánr gS] rks 

15x = ij lhekUr vk; Kkr dhft,A                                               1 

      The total revenue in rupees received from the sale of x unit of a product is given by      



     
2R( ) 3 36 5.x x x= + + Then find the marginal revenue when 15x = .  

(vii)  Kkr dhft,
2

2

1
1x dx

x

 
− 

 
                                                 1 

         Evaluate: 2

2

1
1x dx

x

 
− 

 
  

(viii) ÁFke prqFkkaZ’k esa o`Ùk
2 2 9x y+ =  ls f?kjs {ks= dk {ks=Qy Kkr dhft,A                1 

      Find the area lying in the first quadrant and bounded by the circle 
2 2 9x y+ =  

(ix)  fl) dhft, fd Qyu 
2 2y x x c= + + vody lehdj.k ' 2 2 0y x− − = dk gy gSA        

1 

     Prove that the function
2 2y x x c= + +  is a solution of the differential equation

' 2 2 0y x− − =   

(x) nks lfn'kksaa rFkkb ds ifjek.k Øe'k% 3 ,oa 2gS vkSj . 6a b =  gS] rks a rFkk b ds chp dk 

dks.k Kkr dhft,A                                                                   1 

     Find the angle between two vectors a and b with magnitudes 3 and 2  respectively, having 

. 6.a b =  

(xi) fcUnq ftldk fLFkfr lfn'k 
ˆˆ ˆ(2 4 ),i j k− + ls xqtjus okyh js[kk dk lfn'k lehdj.k Kkr dhft, 

tks lfn'k 
ˆˆ ˆ( 2 )i j k+ − ds lekUrj gSA                                                 1 

     Find the equation of the line passing through the point with position vector ˆˆ ˆ(2 4 )i j k− + and 

its parallel to the vector ˆˆ ˆ( 2 ).i j k+ −  

(xii) ;fn ( ) ( )
2 1

P A ,P B
5 3

= =  rFkk 
8

P(A B)
15

 =  gks rks ( )P A B Kkr dhft,A   1 

   Find ( )P A B , if ( ) ( )
2 1

P A ,P B
5 3

= =  and  
8

P(A B)
15

 = .  

[k.M & c 

SECTION-B 

4- fl) dhft, fd 
3( ) 5f x x= + }kjk ÁnÙk Qyu :f R R→ ,dSdh gSA                    2 

    Show that the function :f R R→ given by 
3( ) 5f x x= + is injective.   

5- fuEufyf[kr Qyu dks ljyre :i esa fyf[k,A                                      2 



     
1 cos sin 3

tan ,    .
cos sin 4 4

x x
x

x x

 − − 
−   

+ 
                  

     Write the following function in the simplest form.  

      1 cos sin 3
tan ,    .

cos sin 4 4

x x
x

x x

 − − 
−   

+ 
 

6- vkO;wg lehdj.k 
3 7         5 0    2

1        2 3 8      4

x y

y x

+ −   
=   

+ −   
ls xrFkk y dk eku Kkr dhft,A        2 

       Find the value of x and y from Matrix Equation 
3 7         5 0    2

1        2 3 8      4

x y

y x

+ −   
=   

+ −   
 

7- ;fn

   2   3

1,  1       1 0

3   2   

x

x x

x

= − = dk ewy gS rks bl lehdj.k ds vU; nks ewyksa dk ;ksx Kkr dhft,A  

2              

     If 1x = − is a root of 

   2   3

1       1 0,

3   2   

x

x

x

=  then find the sum of other two roots of this equation. 

8- 
1sin (cot )x−

 dk xds lkis{k vodyt Kkr dhft,A                                 2

          

 

   Differentiate 
1sin (cot )x−

with respect to x.  

9- ;fn
1 1 2sin sin 1 ,  0 1y x x x− −= + −   gks rks

dy

dx
Kkr dhft,A                           2                 

      If 
1 1 2sin sin 1 ,  0 1y x x x− −= + −   then find .

dy

dx
 

10- fl) dhft, fd R esa fn;k x;k Qyu
3 2( ) 3 3 100f x x x x= − + − o/kZeku gSA           2 

   Prove that the function given by
3 2( ) 3 3 100f x x x x= − + −  is increasing in R.  

11- Kkr dhft, 
2

1 1xe dx
x x

 
− 

 
                                                  2                                               

         Evaluate: 
2

1 1xe dx
x x

 
− 

 
  

12- js[kk 3 2,y x= + x −v{k ,oa dksfV;ksa 1x = − o 1x = ls f?kjs {ks= dk {ks=Qy Kkr dhft,A 2 

       Find the area of the region bounded by the line 3 2,y x= + and x − axis and the ordinates 

1x = − and 1.x =  



13- n'kkZb, fd lfn'k ˆ ˆˆ ˆ ˆ ˆ2 ,  3 5i j k i j k− + − −  vkSj ˆˆ ˆ3 4 4i j k− −  ,d ledks.k f=Hkqt ds 'kh"kksZa dh 

jpuk djrs gSA                                                                       2 

 Show that the vectors ˆ ˆˆ ˆ ˆ ˆ2 ,  3 5i j k i j k− + − − and ˆˆ ˆ3 4 4i j k− −  form the vertices of a right 

angle triangle.  
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 SECTION-C 

 

14- Kkr dhft, 
27 6

dx

x x− −
                                                      3                                              

         Evaluate: 
27 6

dx

x x− −
  

vFkok @ OR 

     Kkr dhft, 
2

2

3 2

x
dx

x x+ +
                                                                                                               

      Evaluate: 
2

2

3 2

x
dx

x x+ +
  

15- vody lehdj.k 
2tan (1 )sec 0x xe ydx e xdy+ − = dk fof’k"V gy Kkr dhft,A           3 

      Find the general solution of the differential equation 
2tan (1 )sec 0x xe ydx e xdy+ − =  

vFkok / OR 

   vody lehdj.k cos     ( );   1
dy

a a R y
dx

 
=  = 

 
;fn 0,x = dks lUrq"V djus okyk fof’k"V 

gy Kkr dhft,A                                                                           

Find the particular solution satisfying the differential equation cos     ( );   1
dy

a a R y
dx

 
=  = 

 
 

if 0.x =  

 

16- ml js[kk dk lehdj.k Kkr dhft, tks fcUnq ( 2,4, 5)− − ls tkrh gS vkSj js[kk    

    
3 4 8

3 5 6

x y z+ − +
= = ds lekUrj gSA                                                 3                                     

      Find the Cartesian equation of the line, which passing through the point ( 2,4, 5)− − and   

      parallel to the line given by 
3 4 8

.
3 5 6

x y z+ − +
= =  

vFkok / OR 

   
n'kkZb;s fd

 
fcUnq (2,3,4),( 1, 2,1)− − vkSj (5,8,7) lajs[k gSA                                  

     Show that the points (2,3,4),( 1, 2,1),(5,8,7)− − are colinears.  

 

17- rhu flDds fn, x;s gSA,d flDds ds nksuksa vkSj fpÙk gSAnwljk flDdk vfHkur gS]ftlesa fpÙk  



75%ckj ÁdV gksrk gS vkSj rhljk vufHkur flDdk gSA rhuksa esa ls ,d flDds dks ;kn`PN;k 

pquk x;k vkSj mNkyk x;k gSA ;fn flDds ij fpÙk ÁdV gks]rks D;k Ákf;drk gS fd og nksuksa 

vkSj fpÙk okyk gS\                                                                 3 

There are three coins. One is two headed coin (having head on both faces), another is biased coin 

that comes up heads 75% of the time and third Is an unbiased coin. One of the coin is chosen at 

random and tossed,it shows head, what is the probability that it was the two headed coin?  

vFkok @ OR 

nks xsansa ,d ckDl ls fcuk ÁfrLFkkfir fd, fudkyh tkrh gSA ckDl esa 10 dkyh vkSj 8 yky 

xsansa gS]rks Ákf;drk Kkr dhft,&  

  (i) nksuksas xsansa yky gks 

 (ii) ÁFke dkyh vkSj nwljh yky gksA 

 (iii) ,d dkyh vkSj nwljh yky gksA                                                 

Two balls are drawn at random without replacement from a box containing 10 black and 8 red 

balls. Find the probability that: 

(i) both balls are red.  

(ii) First ball is black, and second is red. 

(iii) One of them is black and other is red.  

 

                                                                       [k.M&n 

SECTION-D 

 

  

18- 

2

2

2

1

1 1

2

xe dx
x x

 
− 

 
  dk eku Kkr dhft,A                                        4 

      Find the value of 
2

2

2

1

1 1

2

xe dx
x x

 
− 

 
  

vFkok @ OR 

        
4

0

log  (1 tan ) x dx



+  dk eku Kkr dhft,A                                         

      Find the value of 
4

0

log  (1 tan ) x dx



+  

19- js[kkvksa ( ) ( )ˆˆ ˆ ˆ ˆ4 2 2r i j i j k= − + + −  vkSj ( ) ( )ˆ ˆˆ ˆ ˆ ˆ2 2 4 4r i j k i j k= − + + + −  ds e/; 

dks.k Kkr dhft,A                                                                      4                                                        

Find the angle between the lines ( ) ( )ˆˆ ˆ ˆ ˆ4 2 2r i j i j k= − + + − and 

( ) ( )ˆ ˆˆ ˆ ˆ ˆ2 2 4 4 .r i j k i j k= − + + + −  

vFkok @ OR 

       js[kkvksa 
ˆˆ ˆ(1 t) ( 2) (3 2 )r i t j t k= + + + + +  vkSj 

ˆˆ ˆ( 1) (2 1) ( 1)r s i s j s k= − + + − +  ds chp dh 

U;wure nwjh Kkr dhft,A                                                         



      Find the  shortest distance between the lines whose vector equations are  

ˆˆ ˆ(1 t) ( 2) (3 2 )r i t j t k= + + + + + and ˆˆ ˆ( 1) (2 1) ( 1) .r s i s j s k= − + + − +  

20- fuEu O;ojks/kksa ds vUrxZr 3 5Z x y= +  dk U;wurehdj.k dhft,A                       4 

                   

3 3,

2,

 0

x y

x y

x

+ 

+ 



 

                rFkk 0y                
        Minimize 3 5Z x y= + under the following constraint. 

                   

3 3,

2,

 0

x y

x y

x

+ 

+ 



  

                                and  0y   
vFkok @ OR 

fuEu O;ojks/kksa ds vUrxZr 3 2Z x y= +  dk vf/kdrehdj.k dhft,A                          

                   

2 10,

3 15,

        0

x y

x y

x

+ 

+ 



 

                    rFkk 0y                
Maximize 3 2Z x y= + under the following constraint. 

                   

2 10,

3 15,

        0

x y

x y

x

+ 

+ 



  

                                    and  0y   
 


